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MiniCO COO0ODOOOO0ODOOODOO 10D00000D00OOD

[0D0] ident = (00D0000000000000)
[DO] const::=true|false |00 00 (0D0DOODO)
[DO0O000] prog:= dec| dec prog
[0O] dec::= type ident(plist) statement
| type ident ;
[O] type ::= int | bool
[000000] plist := type ident | type ident , plist
[O] statement ::= ident = exp;
| while exp statement
| { prog stlist }
| 3
| print ezp ;
| show exp ;
| return exp ;
| if exp statement else statement
[DO000] stlist := statement | statement stlist
[O] exp::=ident| const| exp + exp | exp * exp

| exp == exp | exp > exp | exp < exp
| ident ( explist ) | ( exp )

[D000)] explist::= exp| exp , explist
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/* miniCOOODOOODOOOO %/
/ 00000 cOOoOoOoooooonsx/
int main () {

int zero;

int minus_one;



int sum;
int n;
zero = 0;
minus_one = -1;
sum = 0;
n = 10;
while (n > zero) {
sum = sum + n;
n = n + minus_one;
};
/ 0000 print 00 CcOOOOODOOOOOO =/
print sum; /x OO0 sumO0 000000000 OOODOOO =/
}
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0000000 int O boolO 20000 (DO0ODDOO)DOUOO00OOintO boolJODOODODDOOOOOINntO
0000 true000 boolDOOOOODOOOODOODOOOO
MiniCOODOOOOOOOODOOOOOOOOODOOOODOOOOO0ODOOOOOODOOODODOROOOO
goooboooboobooobon

int £ (int x) {
int result;
if (x==0) result = 1;
else result = x * f(x+(-1));
return result;
}
int main () {

print £(5);

OO0 print OO0OOO0D0ImtO0 boolJOOO 100000000000 OCOODODOOOODOOODOOO
0000000000 (veidODOOO0OO0OD0)000000DO0O0DOOO0OODDOOOODOOO

f (int x) {

}

int main () {
£(5);
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21 OOoO0oOobbobooooobbodad
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int x;
int foo (int y) {

int z;
{int w; ...}

}

int main () {
...foo(10)
}

e 000D (global variable): 000 x 0000000000 D0O0OOO0O0OODOOOODOODO

e 0000 (local variable): OO0 20 wOOODOOOOODDOOOOOODOOOOOODOOOOOOOOO
oood

e J0UDODO (formal parameter): 000 yOOODO0ODO0OOOO0DO0OO (0D0OO, formal parameter) O O
000000000000 000000(@0O: foo(l0))DODOOO fooOOUOODODDOO 1000000
00000 (actual parameter) DO 00 )
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0)0000000000000000O00O00O00U0O0o00U0oOo0ooUOooOoUoooOooooon

e 1J000UIDDOUDUUDDOODUDOOODUODDO(ULUODOODUDOLOOODUOOOOOODN)
e JO0O0OOODOODOODOODO

e« 000D0000D000D0000D0000D00O0DNO00(NO000000000000000000000
oooo)
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2.2 0000 (dynamic binding)0 0000 (static binding)

0000 (variable binding, 00 00000000)0000000O0O0O00O0OO0OO0OOOOOOOOO (OO
0000o0000)00ooooooooooooooon
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int x;

int g (int y) {
return x + y;

}

int £ O {
int x; x = 10;
return (g(20));

}

int main OO {

x = 5; print £();
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